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Topic: Mathematics-Section A

Iltem No: 1

Question
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Question

Type: MCQ

Question: QRS (1,2,3,...,60} T4 {1,2, ..., 60} 2O R €6 7 IS R={(a, b) : b=pg, T©
P, q = 3, GTIfeRF 72T} (ST R © (e FRU—

A: 600

B: 660

C: 540

D: 720

Topic: Mathematics-Section A

Iltem No: 2

Question ID: 100202

Question Type: | MCQ

Queston: | ¥ gy z=24 3, TW, (90T 2° + (Z)° AT TI—
A 244

B: 224

C: 245

D: 265

Topic: Mathematics-Section A

Item No: 3

Question ID: | 100203

Question MCQ

Type:




Question: | ¥FZF A TI% B Y51 3 x 3 WF S ITI GNaS ACS AB *[+) (I |
A AX =0 AT FNFIe LETI0R SRe ™ T4 =g |
B: AX =0 (AR AN LRTICOR SR FATE AN SIE |
C: B 51 efSTEN=1T GIieT< |
D: adj(A) 95! &AfSTHARRR GIET |
Topic: Mathematics-Section A
Iltem No: 4
Question | 490204
Questi
T;Jpees on MCQ

1 i L £ 5 1 =1 , 34, (9% a g
Question: (20 —a)(40 —a) (40 —a)(60 — a) (180 —a)(200 —a) 256

AT W 279
A: 198
B: 202
C: 212
D: 218
Topic: Mathematics-Section A
Iltem No: 5
Question ID: | 100205
Questi
T}llJpeeS on MCQ
e —x .
Question: | 7 |y 2 FBe FySIMY 2 TS, B yeR, 0@ T @G WE 72 ?
x—0 x sin” x 3

A: o + B2 + ,},2 =6
B: af +By+vya+1=0
C: a[32+[372+'ya2+3=[]




Topic: Mathematics-Section A
Item No: 6
Question ID: 100206

Question Type: | MCQ

2
. 1

Question: | : dx SR A 2T

3 3 + 2 sinx + cosx =
A: tan—1(2)
B: tan"1(2) - Z

4

1
c: —tan"'(2) - =

2 3
D: 1

2
Topic: Mathematics-Section A
Item No: 7
Question
D- 100207
Question
Type: MCQ

R (1 + ez’f)[ﬂ +y} — 1 SR IR I 1y =y (x) O [0, %) famra AR =3 |
Question: dx
(0% lim e*y(x) S 29—
x—00
A: E
4

B: 3w




C: E
)
D: 3_11.
£
Topic: Mathematics-Section A
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Question
D- 100208
Question
Type: MCQ
4 ~
492 by +10y—8 =09 2x—3y=0, be R — {E} (IR YOIeTs (MRS (- L Gl (31|
Question: xz 2
T L @A (1, 1) REeiil =i 17(x2 +12) = 16 &S o B3, (O0F — % i—z = 1 Toges
TFTO TI—
2
A: —_—
J5
B: E
5
1
C: _—
J5
D: E
5
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Question
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Question MCQ

Type:




W P : 20 + my + nz =4, ANCET @298 A(— 1, 4, 3) 79 719 AMqS FAKS (_2, Z EJ =,
2

Question: 2
(SCT 3, — 1, — 4 VIoll® TG (I G (ZI1 P H7Ieeq 2[4 A e 7ag 7ol 29 ¢
A: 1
B: J26
C: 2.2
D: J14
Topic: Mathematics-Section A
Item No: 10
Question
D 100210
Question
Type: MCQ
y —> M M ~ — M M M )
491 2 a=3i+j ©W*¥ b=i4+2j+k| & TH ¢ 461 (e3F [
Question:
s (—> —>) — — — —
ax\bx cl=b +AcTP@EIEITM b SNF ¢ PN T, (TCF \ 37 27 ¢
A: -5
B: 5
C: 1
D: -1
Topic: Mathematics-Section A
Item No: 11
Question
D- 100211
Question
Type: MCQ
<51 GiaiTa 07 Teae 41 A fT7E #191 5199 @211 Y79 Toe (@1 o % A 0 #If*5are B flawa =4
Question: i

9 (T TGS Toe (1 cos_l[ } | T GIRIECHIS =191 B 9 199 15 G5 23, (S0 cot o

J13
EGE




W[ | Wk (GO ||

Topic:

Mathematics-Section A

Item No:

12

Question ID:

100212

Question Type: | MCQ

Question: PArq) =(pAarT) | OS] 2 ¢

A q=(pAr)

B: p=(pnAar)

C: pArr)=(pArq

D: pArq) =1

Topic: Mathematics-Section A

Iltem No: 13

Question ID: | 100213

Question MCQ

Type:

uestion | @ 3), B(b, 5) W% C(a, b), ab > 0 < B fGgw Wb »fieem 25 P2, 1)1 I AP
SO @eireitE BC T Q (ky, k) RIS TS, (90T ky + k, S0 29 —

A: 2

B:

|




C: g

7
D: 4
Topic: Mathematics-Section A
Item No: 14
Question
D: 100214
Question
Type: MCQ

A A . T (A A)
431 2’5 a HF b K61 €FF (©39 TS Hized Ww @19 — | AW \a + bl ==

Question: 4

A A (A A) "

a +2b +2la x b)) (3T 7R TEI @ 0 W (SCY 164 cos20 N 27
A: 90 + 272
B: 45 + 1842
c: 90 + 342
D: 54 + 9042
Topic: Mathematics-Section A
Item No: 15

Question ID: 100215

Question Type: | MCQ

5
Question: Y f(tl) — I % dt, « >0, mf(e3) +f(e _3) T 37 ;

1
A: 0
B: 2

2
9

C:

log. (10)




9

2 log. (10)
Topic: Mathematics-Section A
Item No: 16
Question ID: 100216

Question Type: | MCQ

Question: {(I, y): |x_1|5y5ﬂ‘5_x2} CGLOIS FIfe] o1 2’9 —
A: E =] [é) e l

2 5 2
B: 5_11- — E

4 2
C: 3_11- + E

4 2
D: 5_1T — 1

4 2
Topic: Mathematics-Section A
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Questi
ID‘feS 'on 1100217
Questi
T;Jpees: on MCQ

QR P : 2 =4x WEgET AMCE L : y=mx+c, m > 0 & H&gEI M =< N Tq© FIC6 | G912
Question: | H : 22— 2 =4 7IJET ™FT 2 L (S 1 I P wifages ARy O =< F H ~[ges aife, f
x- O F 49 S AT, (9% OMFN 5USER SFife] 70 29 —

A: 2.J6
B: 214
C: 4\/6
D: 4.\/1_4
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Mathematics-Section A

Item No: 18
Question
D 100218
Question
Type: MCQ

f:R—> R, MO
Question:

f(x)=|x—1|cos|x — 2| sin|x — 1| + (x — 3) |x2 — 5x + 4|, TETICH! SR 1T (FICA 79 HL 27—
A: 1
B: 2
C: 3
D: 4
Topic: Mathematics-Section A
Item No: 19
Question
D- 100219
Question
Type: MCQ
Question: | 25 S=1{1,2,3,..,2022} 5 : 37 : T : (n, 2022)=1, TZELH S F *[1 A0S T A Bl

724 n ¥ TR £9—
A 128

1011
B. 166

1011
c. 127

337
D: 112

337
Topic: Mathematics-Section A
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Question ID: 100220

Question Type: | MCQ




91 T4 f(x) =307 =2+4 y ¢ R FEGR ACE o A S o7 9
P:x=0,ﬁ@f?tﬂﬁﬁﬂﬂﬁéml

Question: :
Q: x =2, R r3 el |
R x>ﬁ§ﬁ@f’ﬁﬁ{ﬂml

A: (e P Ol Q
B: (e P 9ll9 R
C: &< Q i< R
D: P, Q o1& R IR
Topic: Mathematics-Section B
Item No: 21
Question
D- 100221
1Q_ue§tion Numeric Answer

ype:
Questi 4 S=1{0 € (0, 2m) : 7 cos20 —3 sin2) —2 c0s220 =2} | (T[T x2—2 (tan20 + cot20)x + 6

uestion:

sin20 =0, 0 € S A TG FICA o7 @91 2T |

Topic: Mathematics-Section B
Item No: 22
Question
D- 100222
Que§tion Numeric Answer
Type:
Quest %91 2’5 20 BT #1FT0T 9 x ), Xy, . . ., X I WK OE 27 G0 15 9% 9, I @ € R T M (v, + )2,

uestion:

(X + )2, . . . (Ypy+ )2 TG 178 2, (OTT o I T 394 949 7 27 |

Topic: Mathematics-Section B
Item No: 23
Question
D- 100223
Question

Type:

Numeric Answer




4912’51 a, b e R TS a, —4da, — 7 WATS & @419E 3, —1, 2b W€ b, a, —2 frigoTe 7@
x+1  y-—2 z

Question: | (JAMARE @*q@ &17 | Ifw = = = @ qF x—y+z=0 INoA] (A9
aZ +b2 a? -p? 1 ' B
(a, B, y) T, (0B a+P+y W 2'F |
Topic: Mathematics-Section B
Item No: 24
I%‘?GS“O” 100224
Question .
Type: Numeric Answer
| 91 2 a,, a, a,, . .. WG A5G (AP) S WLRI AT Y L =4, (80T 4a, T N T 2T
Question: o
-
Topic: Mathematics-Section B
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Qlfestion 100225
ID:
?ues.tion Numeric Answer
ype:
1 1Y
@A = I TfE o | V2 + = | T e 2OIRETS SRS o[ e Wi R oA
. ¥z 3
Question:
AT SIATS Y -1 | A SAEER A 6 T #ARCH! %‘éﬂ, (S o T 29
Topic: Mathematics-Section B
Item No: 26
uestion | 100226
Question .
Type: Numeric Answer
Question: 03 1 T 4T SF WG2CIR (Toa @orFa (e 72T 2 7[0S 3 X 3 @[ (ewq WLl
| 3’7 o
Topic: Mathematics-Section B
Item No: 27
Question ID: | 100227




Question

Numeric Answer

Type:
491 24 p SIS p +2 90! G A2 ST 4912e
pb (p+t D (p+2)
Question: A=|p+ D! (p+ 2! (p+ 3)
p+ 2! (p+3) (p+ 4)
(STF o W% B T A T4 (A5 T TS p® O (p +2)P 7T A F ©i9f FF |
Topic: Mathematics-Section B
Iltem No: 28
Question ID: | 100228
_?;pe;tion Numeric Answer
1 + L + 1 R : :k,ﬂw 34 k 3+ 2’9
Question: 2x3x4 3x4x5 4x5x6 100 x 101 x 102 101
o
Topic: Mathematics-Section B
Iltem No: 29
Question
D- 100229
Ques.tion Numeric Answer
Type:
Questi 491 29 S={4, 6, 9} Tt T={9, 10, 11, ..., 1000} | qfy A=[a]+a2+...+ak :k eN, a,
uestion:
8y, 8y, ..y Ay € S} (T T— A NEFSHR  AGERCIR (T Q91T I 2] |
Topic: Mathematics-Section B
Item No: 30
Question
D- 100230
_?;pe;tion Numeric Answer
Quest QR y=x+1 @S ¢; : ¥2+ 12— 2x—6y+a=0 JGI WA AfCRT
uestion: : ,
¢, : 532+ 512+ 10gx + 10y + 38 =0 M ¢, JEWGR TFIIE r T, (ST o+ 612 A 2T
Topic: Physics-Section A

Iltem No:
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Question

D- 100231
Question
Type: MCQ

Question:

TS Wl Tfe 7l Wit | @51 CarEell (A) S SR FE9 (R) J0e [reae] 341 (202 |
carEet (A) 2 B! T (BIARTR (TE AT 2R5a Coiae eq TG | T To[ Tg p 20

> 3
I GIAFR TNE r 2h, (9% T = K P% TATSE 9%, T K A9 |
S

2

e (R) ¢ I Rese @z SR @i #ié @, R.H.S. 3 9@l sEeiea Sarets @ees! |
TG 12 Tfeq e, Oorq [esq #19 % Ued b3 3 |

A: (A) W% (R) TCAGIE 36! =% (R), (A) T A(5F 12 |
B: (A) O (R) TEAGIE 361 g (R), (A) T A2 27451 723 |
c: (A) 751 % (R) 3= |
D: (A) frz 7€ (R) 361 |
Topic: Physics-Section A
ltem No: 32
Auestion 1 409232
%Jpees:tion MCQ
G WS @EIE 9Bl 96 @H{Fe el (20g A0S 2 OF Tl h 2 | €o[Te AETe g o ita]
Question: witEits, @ s 2 e 2 © 2T, (72 AT IS ST el 7 |
A: JE ll |
2 +1
B: Jg — \/E
3 +\2
C: Jg =1

&
_I_
p—




D: l
3
Topic: Physics-Section A
Iltem No: 33
Question ID: 100233
Question Type: | MCQ
- dx
uestion t=Jx + 14, (dt]t=4
A: 4
o 47
C: 8
D: 16
Topic: Physics-Section A
Item No: 34
Question
D 100234
Question
Type: MCQ
Bae (F4eql @, <! P JERFR (ATANET o3 THTEE SRR E Witz | m ©99 6! I IET9
v BOrF 5ifS T | RTAE FHEHI Ao 51 el elfefamzt (N) wii< g0 &6 (v) 3 e 795
T (@A ITEiE ety sl
Question:
N
A:
v




N
B:
v
N
C:
V
N
D:
v
Topic: Physics-Section A
Item No: 35
Question
D- 100235
Question
Type: MCQ
Question: | STIZRE IS 60°(FITS E #ifexerta 377 <1 eftavs! a1 1202 I 2R T2 A e 95 1E sifeoxfe
T,
B: E
&
C: E
4
D: E
Topic: Physics-Section A




ltem No: 36
Question | 100236
Questi
T;Jpees: on MCQ
Question: 1kgm3kgwﬁa@awc@am?+z?+im—3?—2?+3|uﬂ3m
AU SR (SR W (6! (ST W (S A2 23—
At M M
A i +2j+k
Al M M
B: =31 =254 k
M At
C: — 24 4%
At M M
D: — 21 = § 2k
Topic: Physics-Section A
Iltem No: 37
Question ID: | 100237
Questi
T;Jpe‘:: on MCQ
TS T5! T Tl wE ¢ GBI CHIEel (A) SN SCERE FIRe (R) 0ol SIRe 11 (=2
Oueston CaraeH (A) ¢ AICE 42 O/ 6] w19 7191 FICATF GiFl F1E (FRIE |
u | .
F9 (R) ¢ (o= &Ter S IR A (el el |
GG 12 GG AT, Ooe Fsd 2[4 @& Geq b3 39 |
A (A) I (R) FEAGE 751 01 (R), (A) T &% 11 |
B: (A) T (R) TAGE 751 5 (R), (A) I @@ i< 723 |
c: (A) 751 fF% (R) = |
D: (A) &= 7 (R) 3161 |
Topic: Physics-Section A
Iltem No: 38
Question 100238

ID:




Question

Type: MCQ

Question: TM(Z IO SR (T i 36 B 28 SN QAN T St 1 2, (O0T SIS #AvL ST @l
273,

A g e

B: 319 ARME S We 8 @9 2]

C: 1

- TR ST T | @42

D: 39 AT THT 4 8929

Topic: Physics-Section A

Item No: 39

Question

D: 100239

Question

Type: MCQ

Question: Q2 TR WA #[[1 L reia 9 (rieRs @B aTwiz 941 (202 | (@5 (@ o § 92 TRER el

| ST SGTR wete i wifErg | cofew, (MIERRBR (TR A 279,

A: 2mJL/ (g cosa)

B: 2m,/L/ (g sina)

C: 27 fL/¢g

D: 2L/ (g tana)

Topic: Physics-Section A

Item No: 40

Question

D: 100240

Question MCQ

Type:




3 r
v o) - o3~ F) 7RI
*[eTy r>R I91@
IR FE (2R G (TR TSI ANNS S I75+ b1 F41 (208, T, 1(r < R) FF O T #/ 73,
(foae myeat wiR) | P e Ryie (% 274,
Question:
A P T [E _ LJ
4gp \4 R
5 Pt [E _ LJ
3gg L4 R
- m(-g
480 R
o P T [1 _ LJ
ED R
Topic: Physics-Section A
ltem No: 41
Question ID: | 100241
Question Type: | MCQ
T Wo! Ui Wl (2|
et Te1:  AfS! #f@IER oo e fooge e g 4= =31
uestion:
T 11 afernt e fge oFa «RAER 297 Terg 21 |
TAEE 12 Uies oiFe, ©ai e[ #i@l AdioRe beq 3w 34 |
A T 1 @i ©f e 11 qrainiE w5 |
B: T 1 9 Sfe 11 qrA0i2 9194 |




c: U@ | w5 [ Of@ I 9197 |
D: e | oivm € e 11 9% |
Topic: Physics-Section A
Iltem No: 42
Question
D- 100242
Question
Type: MCQ
Question: | TR NI TOIF 41gd O (HTR=OI Aol 1 (2R | A 4R SRSl AR T 0y B o,
| 2 G AR &'@ﬁ)f sAfZRI®! (effective conductivity) T

A: —Gl J2

G'l + 0'2
B: 20’1 0'2

0'1 + Cl'z

e

C: —Ul -

2(}'1 0'2

+
D: —Ul 92
0102
Topic: Physics-Section A
Iltem No: 43
Question
D 100243
Question
Type: MCQ
Question: ‘/_ H 3 S 25 6] 570 I AR [y 511 961 E = 440 sinl 00wt 276 T4 (202 | 7
a@ﬁﬁzﬁm 951 /ST QRB ALe T ==, T IS T3,

A: 44 A
B: 155 A
C: 22 A




D: 3.11.A
Topic: Physics-Section A
Iltem No: 44
Question | 100244
_?;pees:tion MCQ
6V I @GS1 G5IF CACS 100 Q (@Y O 1 H SIE*E TUle Fe1] A 41 (=0 | e =1,
Question: | (a) T T LSRR T B4 T (AR S90S SGAZS (1 H0 2
(b) ISR H2G O FIF 15 ms I AL 4F FC FEFADBIR (0O TS (F114F (Fqe A6 (& 7

A t=10ms; U = 2m]
B: t=10ms; U = 1m]
C: t=7ms; U=1m]
D: t=7ms; U =2m]
Topic: Physics-Section A
Iltem No: 45
Question ID: | 100245
Question MCQ
Type:

Sifere! 13 (e Sifert 11 fcert |

oiferet - I wifewst - 11

(a) OISR T (i) 8% Rests @il Feims oy
Question: (b) }{_ﬂf;i[, qe EI0 (ii) A e

(©) TS (i) GRS, S

(d) TR ISR (iv) F<eT! At e =ofB wfefq ST Taes 1

o] [AaEe 9l w7 Teq 53 I 2
A: (a)-(iii), (b)-(1i), (0)-(1), (d)-(iv)
B: (a)-(i1), (b)-(1), (¢)-(iit), (d)-(iv)
C: (a)-(i1), (b)-(iv), (c)-(ii), (d)-(1)




D: (a)-(iii), (b)-(1), (c)-(i1), (d)-(iv)
Topic: Physics-Section A
Iltem No: 46
Question
D: 100246
Question
Type: MCQ
Question: | TR AT (AR WA \ 2, TG & E | TR A 2E 1 I wfte, e
(A1 TG 29 A1,
A L
EN — he
B. hch
EXN + hce
C: L
EN + he
D hei
EN — he
Topic: Physics-Section A
Item No: 47
Question
ID: 100247
Question
Type: MCQ
Ouestion, | J2F T A | T e (i) TS Sgae e w o e w0, W (i) A
| e *fE BT o[l e SRS BEtA (ZRA A0 TR (217 T 5 *Tew wgeite fefT 7 |
A: G
B: 453
C: 1:4
D: 7 M|
Topic: Physics-Section A

Item No:

48




Question

D- 100248

Question

Type: MCQ

Question: 8V =i 5 Ul AT FfeTS w29l IO o Wﬁ“ﬁ T 'S TR 1o ©RAMGR 76 FwF 9
Vi

A: 0.8

B: 05

C: 0.2

D: (.1

Topic: Physics-Section A

Iltem No: 49

Question

D- 100249

Question

Type: MCQ
<1 5T 2T H AT JATFTS 26 cm © 20 oo Wiz T’ @i 30 ST (=ee 33 50 [erew

Question: | w7z | Tft SifefaR (Fe 25 eiema T 27 (Fo1 24 RSIew= 09 27, (S7% IBF FADR 7o #It
Z3,

A: 0.001 cm

B: 0.002 mm

C: 0.002 cm

D: 0.005 cm

Topic: Physics-Section A

Iltem No: 50

Question ID: [100250

Question

Type: MCQ




Ze5iG 2R T SRA AP 1 G oS, RIS A 4 (20
— g H 3

=gy

N

Type:

Question:
(A) G 77 GolTS Fh! JACFTS 0.5 mm 7S T |
(B) 3IJEFR (FFR T Feiew =50
(C) T4 CF1 15 2.5 mm |
(D) JERFT (FeE 45 ©F [Feiewo! 255 izae =itz |
(E) TEOR 0.03 mm 2SR F SCZ |
(S0 ORGFR G 24,
A 2.92 mm
B: 2.54 mm
C: 2.98 mm
D: 3.45 mm
Topic: Physics-Section B
Iltem No: 51
%festion 100251
1Q_ue§tion Numeric Answer
ype:
0 (TS AREF @9 u (I G5 TEF ARG ATH| T4 (Z0Z | ATHA 9T GEFAE (202 MO SIS
Question: | ~fae R 1 | SiTgfs #ifaors 2Rf «ifoma ol (2l o) bl 78 IS 20| T 24 | [RITHaS
A&TEF @9 G2 AT | (@FieTe 20 051 7 ATHo1 41 (27, (2 ATH (e AH 2] foa |
Topic: Physics-Section B
ltem No: 52
Questi
ID‘feS 'oN" 1100252
Question

Numeric Answer




T <219 %9 h THE! @oFE B! [T ©(F SRed F4 NIFEAE w1 AT ofa
Question: | ah (h << R) TSITOI® B[S =1 NLIF T G901 (0T GTE 23, o I Wi 27 |

(R, =6400 km <2< 1)
Topic: Physics-Section B
Item No: 53
Question
D: 100253
Que§tion Numeric Answer
Type:

7

G G GG 2OETIS RS Tawlilelfas (oies [T = E) 519l P, SI% 99 d; IS P,(>P)) % d,
Question: | (51 #fRES 20 | (1ZBIR TEeel If =i =i 29011 2iafEs TaveR @6 A |

(Fra iz 92 = 32)

dy
Topic: Physics-Section B
Item No: 54
Question
D: 100254
_CI_)ue§tion Numeric Answer
ype:
B! Gl (ol 9 e GOt farisefa (ares fofi wem Tree fizfe o1 tzrz | foa oiree
2

Question: | fieCHIR SIeIfEeF IiCeIfes @il “TR J/mol K ; (O7F o § T 27

(Assume that the given diatomic gas has no vibrational mode)
Topic: Physics-Section B
Item No: 55
Question ID: 100255

Question Type: | Numeric Answer




ATE TEAIBI4 WEW 21Ee (3[1 24z 31 Al
9 9 9Q
Question:
IA
| 1
I I
6V

Topic: Physics-Section B
Item No: 56
Question
D- 100256
Question .
Type: Numeric Answer

5 cm PR 5! T (RS JERF LN 271 (FHS 37.68 x 104 T (GI5F (Fg Teom A |
Question: | FEFIOMS AITS 2[Z Al

(Tt =T, 116 714! 100 <6 = 3.14)
Topic: Physics-Section B
Iltem No: 57
Question
D- 100257
Ques.tion Numeric Answer
Type:
Question: G AT 41 OI% 91 SRS FB1 (91123 IR I FRTZ | 2MidTe A e «2 3f<) 75 wiem w=il

| il * oI B S | A 9% B [, 71g SIgeR #iie 29 I

Topic: Physics-Section B
Item No: 58
Question
D- 100258
Question .
Type: Numeric Answer

14 A 2R FHAR 26 314 cm (THR GO OF (51 F[ <5l T€ AR 27 | FLTCET (G174 I 27
Question: A-m?2 |

[Given 7w=3.14]




Topic: Physics-Section B

Item No: 59

Question

D- 100259

1Q_ue§tion Numeric Answer

ype:
5! FOZ TS M, S M, I WSS A2l X-Y T @R AEF | Z=0'T M, J 2fe9m@is 2 =i
— AN A M

Question: | Z<0S M, T &f7™IE /3 | P =443 — 343 — 5k (SFACS wexfial M, © < (o012 T

7}/ 9| TS TGS (Z07 | M, © 23] SN2 (1o SiF M, © 26l ool (@FoF 2w 77 29
fed |

Topic: Physics-Section B

Item No: 60

Question

D- 100260

Question .

Type: Numeric Answer

Question: T GBI p-n TS FERNCE €4 2B 0.6 V | (0T 6 % 10 ~6 m @@ 7@ wiwere fJigpe owge Sl

1 7% x10°N/C|

Topic: Chemistry-Section A

Item No: 61

Question ID: | 100261

Question

Type: MCQ

Question: | RS (FHH ST @IE TGN TG ERG 59 ST T2ARS TEF W) 32 F(F |

A BClL, 1% SF,

B: NO 9 H,50,

D: BCl, ¥l NO

Topic: Chemistry-Section A

Item No: 62

Question

D- 100262




Question

Type: MCQ
Na(g) F3Hs(g) = 2NHy(q)
Question: | 2p g b5g
@oieq R Rl RiEnE Aol e o9 Geom @@ NH, 3 559 74 T2 26 3
A: H,, 1.42 I’
B: H,, 0.71 9’
C: Nz, 1.4:2 :I,G_'{
D: N,, 0.71 3’5
Topic: Chemistry-Section A
Item No: 63
Question
D 100263
Question
Type: MCQ
et 250 mL RFIES #Af*re NaCl T 100 mL 5% (w/v) & IR 24 | T 219 G- NaCl 78S Ji]
uestion:
il 25 o oM 7ieiE el 24 | o 91 W0l TA—
A: GRS %
B: TREga] =
c: <5t % W2 G G5t SE e T
D: SETF A T
Topic: Chemistry-Section A
Item No: 64
Question
D: 100264
Question
Type: MCQ
Ouest Na, Mg ®Il% Si q 225 SR R0 GHIef#/q 31 I 25 496, 737 S 786 k] mol —1 | Al § 22
uestion:

SRR R (k] mol ~1) TH—




A: 487

B: 768

C: D7

D: 856

Topic: Chemistry-Section A

Item No: 65

Question ID: 100265

Question Type: | MCQ

Question: qIoRMITS “<Ifer W&o (0! a2E ! 23 -

A sRifeee e wayE AR (7 A |

B: 3w 4 2T o= 4ot MRS 2 4T |
c: 2{fer oimief AR Freifiare Jua Fore 4t |
D: e GRS |

Topic: Chemistry-Section A

Item No: 66

Question ID: 100266

Question Type: | MCQ

Question: ferca wifefae wae e 19ie Riea Fatet Mo 212G Te (572 o0 -
A Zn(OH),

B: ZnQO

c [Zn(OH),|2~

D: [ZnO,]?~

Topic: Chemistry-Section A

Iltem No: 67

Question ID: | 100267

Question MCQ

Type:




Question: | feTfeEIIS IZEE O G AZEEE, (A ATl o< T 27 I e -
A LiNO, =% NaNO,

B: Li,O % Na,O

c: Li,O S NaNO,

D: LiNO, ¥ Na,O

Topic: Chemistry-Section A

Item No: 68

Question ID: | 100268

_IQ_;Jpe;tion MCQ

Question: | (PR =Y SCl,, O, CIF, W% SF, © 2 G Jo0 FRGa AR I 27 -
A: 0,1,2 <2

B: 2,1, 290

c: 1,2,2 9% 0

D: 2,1,0 < 2

Topic: Chemistry-Section A

Item No: 69

Question ID: 100269

Question Type: | MCQ

Question: FRETRS (W] 4Ty SIEE (AF J992 0 2
A SC3 + , an +

B Tid+ , Cu2 +

C: Vv2+ ) T3+

D: 7nZ+ ; Mn2+

Topic: Chemistry-Section A

Iltem No:

70




Question 1 100270

1(?;pees:tlon MCQ

Question. SIS 1 AT SR TS KMnO,, 71 <1 eIl rRens], Ao el IR REtdoe]
T fOE TiRe SR A | @2 R cmifes 10 g 72[ sffaed 29—

A: 5

B: 1

C 0

D: 3

Topic: Chemistry-Section A

Item No: 71

Question ID: 100271

Question Type: | MCQ

Question: e (@R @S (@@ T STE—

A TTTIE B TIRF G

B: SG 76 WE GG

c: RGN D o7 BiRe G

D: BN 5 @0 I ZeHy S0

Topic: Chemistry-Section A

Item No: 72

Question ID: 100272

Question Type: | MCQ

Question: | fTRfeTiies [CwTe (FINTE! wibiRec *fexeT grrae =T 7




HyC
ct
A: N: CH
P
H,C CHp
“CH,3
HyC
CH,
|
B: N:
F
CH, H
“CH;
$H3
N:
C:
];~:T
D:
Topic: Chemistry-Section A
Item No: 73
Question ID: (100273
Questi
¢ ;pees: ion MCQ
sl @R (@R @R s TeREs fon aew; @ 2
Question:

(Consider the double bonds in the structures are rigid and not delocalized.)




CH, CH;
A:
<>
CH;, CH;
CHj CH,
CHj, CH,
CH, CH,

hS
|
<

CHj CH,

T

Topic: Chemistry-Section A

Item No: 74

Question ID: | 100274

Question
Type: MCQ




A NaCN
;Ar BCN /\ Cl e IB’

“ »
(quorewy) — CHs0H-H0 CHsOH-H0 (325 wrewa)

Question:

@oig [N @E, G@e ‘A == (15 ‘B’ I TE—

A: /\ﬁ_@ /\I(?I_e

C C
> ~Nc=N , ~Nc=N
® O

¢ <N F=8 , ~Nc=n

. ® O
D: SN C=N, " N=C
Topic: Chemistry-Section A
ltem No: 75
Question ID: 100275
Question Type: | MCQ

OH
Br NH,OH P,O
< > A = » B 2 >
A
Question:
CHO
a7ieq il F0o! @R, Siewsy ‘C R e —
Br Br
A:
CN




OH
Br Br
B:
CHO
Br Br
C:
CHO
OH
Br Br
D:
CN
Topic: Chemistry-Section A
Item No: 76
Question ID: | 100276
Question MCQ

Type:




Question:

Cl
‘A’ (CgHgClyO) — 2> CgHzCINO ——2—>
(Cs16C120) g NaOH

asiFg IR R e, @el ‘A7 gH—

O
A: [ ]
Ci CH;
O
Cl
B: Cl
H,C
O
ClI
C:
Cl




)
H
D:
Cl
CH,CI
Topic: Chemistry-Section A
Iltem No: 77
Question ID: 100277
Question Type: | MCQ
+ ==
N =NCCI
N NaOH Gloudy
Question: ( I Bl aﬁ)
Fefoies foose @ME ees ‘A’ 3 dfeffag FE—
OH
A:
OH
B:




C:

NH,
D:
Topic: Chemistry-Section A
Item No: 78
Question ID: 100278

Question Type:

MCQ

A [T Tk @Rl

NH,
i) AIH (i-B
Question: (1) (1 11)2 » ‘A’ CHSCHO > B
(i) HyO T NaOH, A (a5 wreway)
CN
W .\5 ;Br —;‘g—"a-_
A:

0HC©—N=CH—CH3




B: H,N CH=CH-CHO

C: H>N CH; —-N=CH-CHj
v

D: H>N C—-—N=CHCHO

Topic: Chemistry-Section A

Item No: 79

Question ID: 100279

Question Type: | MCQ

Question: e MG @6l @bt Famee 871 TwizRe ¢

A: (208

B: U B

C: 2O

D: oG Tree

Topic: Chemistry-Section A

Item No: 80

Question

D- 100280

Question

Type: MCQ

5 <GBl @9l X IIfEE Wi @261 NaOH %@ Wi, 5% NaHCO, 7a@ S | (il X & 2=/
uestion:

FeCl, 3 99 #191® T (@1 729 | Gl X Tot—




OH

A: é
OH
B:
CH,0H
C: @
CH,0H
D: é
Topic: Chemistry-Section B
Iltem No: 81
Question
D- 100281
Question

Type:

Numeric Answer




745 ppm KCl T3 si @5t #fFaifzel @@ (@ &% 129 m~ 1) I @K 25 100 Q (W3 1 =HE
i w1 2°¢7) | @fent (312 i @1 149 ppm KCI1 ¥4, (@14 50 Q (J (¥4 2 ol Bz w1 2a),

A _
Question: | I8 T T, ¥ 1 i< WE 2 § &7 +{fq1f2els wgeite ' ,«\_1 =xx1072 | x YN LS
2
(Foos w2e 724)
(frarl =it ¢ KC1 q 'e79 9 74.5 g mol ~ 1)
Topic: Chemistry-Section B
Item No: 82
Question
D- 100282
Question ,
Type: Numeric Answer
(FOAR A+ S[F R B~ I SRR APNE 29 LA 102 R 181 pm | G2 SRR SIFF1E
vt GG “E b a9l 2 A0A Tl 2 | G2 Oa(HIa T 1 /e 7153 Witz B~ J3AITA | ool e im
uestion:
IO A S| "F0F AB I IS (R WISy 2 pm |
(FFoox =re 7R4)
Topic: Chemistry-Section B
Item No: 83
Question
D- 100283
?ues.tion Numeric Answer
ype:
5! TERRGE, (T 2a (3T a_ =99 APTIE, 52.9 pm) T 94 I (Fge FwH 7ifeq wfmszret
EE| km s— 1|
Question:
(el =it ¢ 3R ©9 =9.1x 10~ 3 kg
2T &TF h=6.63x 1034 Js)
Topic: Chemistry-Section B
Item No: 84
Question
D- 100284
Question

Type:

Numeric Answer




@fA 0.2 M HNO, 7 600 mL, 0.1 M NaOH %39 400 mL I /51 <0l FF© 2111 2, FIF0R
Question: | TTEOF THIW TF x10~2°C|
(emifireel GwE™ =57 k] mol ~ ! Wi (R S oisf =42 K1 g~1)
Topic: Chemistry-Section B
Item No: 85
Question
D 100285
_I(?ues.tion Numeric Answer
ype:
3w O, (5% 303 K © #{I719 TS I T =, 1L #Ii1e BI1ge (2@l O, et To78 72yl
______ |
Question:
(Fbos w=e F72y)
(=M 303 K © O, FI0e (2111 79 &< 46.82 k bar W% O, I WKH 5171=0.920 bar)
Topic: Chemistry-Section B
Item No: 86
Question
D: 100286
?ue§tion Numeric Answer
ype:
g PbS T TRIS! &9liF 8 x 10 ~28, (% 298 K © PbS F 797 2N WGRe! 25 xx 10~ 16 mol
Question: | L7111 x T 5 25 | (F=oes se 72)
(Mt =itR s 2 = 1.41)
Topic: Chemistry-Section B
Item No: 87
Question ID: 100287

Question Type: | Numeric Answer




X =IE Y 9 Wie] [ Tol, UL TR X ACATT T %] F3d Y ACATT |
oS [X] [Y] o tqefa @9l
molL!  molL! mol LY min™!
I 0.1 0.1 2x103
Question: 1 11 1 0.2 4x10-3
111 0.4 0.4 mx10~3
IV 0.1 0.2 2%x10-3
m % n J AYING J7F SFANS 2 |
(F=oes =g 722)
Topic: Chemistry-Section B
Iltem No: 88
Questi
Ilees 10N 1100288
_?;pees:tion Numeric Answer
Question: 9ol @RS (WAgEes ([fen afim afre 5fw), e 4 O’ 9fRes W] 24 ........... S
(?1Z0T AFEI AL T |
Topic: Chemistry-Section B
Item No: 89
Questi
ID‘feS 10N 1100289
_?;pees:tion Numeric Answer
si7iene g T TS, 1.0 g I deiizae @is 341 &@fed 1, 1, 2, 2-CRE T Aoq (27% Beofe)
5 AT | TR @RI 1, 1, 2, 2- (ORENHeRR #Afwle FiFare 2 x10~1 g | (S1e
tion:
uestion )‘{g-am)
(== 9 ¢ g 80 g/ mol)

Topic:

Chemistry-Section B




Item No: 90
Auestion 1 409290
_?;pees:tion Numeric Answer
[Fe(CN),]3—9b! =i SRoel Sivel 29 iR | I e SR F€, 92 Geoie [@iaa oFa
Question: | FfZITRe *feq WM 4elIg= Al

(Fbey =4e 7e)




